

GWINNETT COUNTY DEPARTMENT OF FINANCIAL SERVICES PURCHASING DIVISION

75 Langley Drive | Lawrenceville, GA 30046-6935 (O) 770.822.8720 | (F) 770.822.8735 www.gwinnettcounty.com

March 20, 2019

AWARD NOTICE BL015-19

Purchase of Fire Hydrants and Fire Hydrant Repair Parts on an Annual Contract

Pursuant to the bids received on January 25, 2019 for bid BL015-19, Purchase of Fire Hydrants and Fire Hydrant Repair Parts on an Annual Contract the bid has been awarded to Consolidated Pipe & Supply, Core and Main, Delta Municipal Supply Co., Inc. Ferguson Enterprises, Inc., Fortiline, Inc., and Hydraflo, Inc. in the amount of \$125,000.00. Please note the enclosed bid tabulation.

We appreciate your bid and interest in Gwinnett County.

Sincerely,

Dana Garland, CPPB Purchasing Associate III

DG/bt

Enclosure



BID TABULATION PAGE 1

BL015-19
Purchase of Fire Hydrants and Fire Hydrant Repair Parts on an Annual Contract
Department of Water Resources

			Consolidated Pipe & Supply (L)		Core and Main (L)		Delta Municipal Supply Co., Inc. (OC)		Ferguson Enterprises, Inc. (L)	
ТЕМ#	DESCRIPTION	APPROX. OTY.	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
ion A -	MERICAN DARLING	4				1 111 0 21			2111411	
1	B62B AMERICAN DARLING FIRE HYDRANT EXTENSION, 5 1/4" X 12" WITH ACCESSORY KIT	30	N/B	N/B	N/B	N/B	N/B	N/B	\$219.97	\$6,599.10
2	B62B AMERICAN DARLING FIRE HYDRANT SAFETY REPAIR KIT (1986 & NEWER)	30	N/B	N/B	N/B	N/B	N/B	N/B	\$104.07	\$3,122.10
3	B62B AMERICAN DARLING FIRE HYDRANT OPERATING NUT	10	N/B	N/B	N/B	N/B	N/B	N/B	\$348.25	\$3,482,50
4	MARK 73 AMERICAN DARLING FIRE HYDRANT EXTENSION, 4 1/2" X 12" WITH ACCESSORY KIT	5	N/B	N/B	N/B	N/B	N/B	N/B	\$191.21	\$956.05
5	MARK 73 AMERICAN DARLING FIRE HYDRANT OPERATING NUT	3	N/B	N/B	N/B	N/B	N/B	N/B	\$251.25	\$753,75
6	MARK 73 AMERICAN DARLING FIRE HYDRANT SAFETY REPAIR KIT	20	N/B	N/B	N/B	N/B	N/B	N/B	\$94.34	\$1,886.80
8	MARK 73 AMERICAN DARLING 2 ½" OUTLET	3	N/B	N/B	N/B	N/B	N/B	N/B	\$129.60 \$129.60	\$388.80 \$1.296.00
9	B62B AMERICAN DARLING 2 ½" OUTLET	1000	N/B	N/B	N/B	N/B	N/B	N/B		
10	B62B AMERICAN DARLING 5 ¼" BONNET GASKET MARK 73 AMERICAN DARLING 4 ½" BONNET GASKET	1000	N/B N/B	N/B N/B	N/B N/B	N/B N/B	N/B N/B	N/B N/B	\$5.70 \$5.70	\$5,700.00 \$5,700.00
11	B62B AMERICAN DARLING 5 ½" THRUST WASHER	1000	N/B	N/B N/B	N/B N/B	N/B	N/B N/B	N/B N/B	\$5.70	\$5,700.00
11		ON A TOTAL		I/B		N/B		N/B		575.10
TION	- CLOW MEDALLION	JNA IOIAL	1,	/ B	I.	N/D		IVB	\$30,	373.10
1	CLOW MEDALLION CLOW MEDALLION FIRE HYDRANT EXTENSIONS, 5 1/4" X 12" WITH ACCESSORY KIT	2	N/B	N/B	N/B	N/B	N/B	N/B	\$263.97	\$527.94
2	CLOW MEDALLION FIRE HYDRANT SAFETY REPAIR KITS, 5 1/4"	6	N/B	N/B	N/B	N/B	N/B	N/B	\$102.97	\$327.94 \$617.82
3	CLOW MEDALLION FIRE HYDRANT 5 1/4" UPPER STEM	3	N/B	N/B	N/B	N/B	N/B	N/B	\$102.97	\$353.07
4	CLOW MEDALLION 5 1/4" FIRE HYDRANT MAIN VALVE RUBBER	3	N/B	N/B	N/B	N/B	N/B	N/B	\$48.22	\$144.66
5	CLOW MEDALLION 5 ¼" BRONZE SEAT RING	3	N/B	N/B	N/B	N/B	N/B	N/B	\$325.27	\$975.81
		ON B TOTAL		I/B		N/B		N/B		619.30
CTION	- KENNEDY	D TOTAL	<u>.</u>		·	-			\$2,0	
1	KENNEDY K81A FIRE HYDRANT EXTENSION 5 ¼" X 12" WITH ACCESSORY KIT	5	N/B	N/B	N/B	N/B	N/B	N/B	\$224.85	\$1,124,25
2	KENNEDY K10B FIRE HYDRANT EXTENSION 5 1/4" X 12" WITH ACCESSORY KIT	2.	N/B	N/B	N/B	N/B	N/B	N/B	\$304.16	\$608.32
3	KENNEDY K81A FIRE HYDRANT SAFETY REPAIR KIT, 5 ¼"	12	N/B	N/B	N/B	N/B	N/B	N/B	\$98.05	\$1,176,60
4	KENNEDY K81A FIRE HYDRANT 5 ¼" MAIN VALVE SEAT	2.	N/B	N/B	N/B	N/B	N/B	N/B	\$261.52	\$523.04
5	KENNEDY K-11 FIRE HYDRANT 4 1/2" X 12" EXTENSION WITH ACCESSORY KIT	1	N/B	N/B	N/B	N/B	N/B	N/B	\$1,173,25	\$1,173,25
		ON C TOTAL	N	/B	N	N/B		N/B	\$4,6	505.46
CTION	- M&H									
1	M & H 129T 4 1/2" V O FIRE HYDRANT MAIN VALVE SEAT	4	N/B	N/B	\$348.24	\$1,392.96	N/B	N/B	\$309,22	\$1,236,88
2	M & H 129T V O FIRE HYDRANT EXTENSION 5 1/4" X 12" WITH ACCESSORY KIT	50	N/B	N/B	\$492.50	\$24,625.00	N/B	N/B	\$231.82	\$11,591.00
3	M & H 129T FIRE HYDRANT EXTENSION 5 1/4" X 12" (6 HOLE OLD STYLE)	10	N/B	N/B	N/B	N/B	N/B	N/B	\$231.82	\$2,318.20
4	M & H 129T 5 1/4" V O FIRE HYDRANT MAIN VALVE RUBBER	10	N/B	N/B	\$60.80	\$608.00	N/B	N/B	\$43.09	\$430.90
5	M & H 129T 5 1/4" FIRE HYDRANT MAIN VALVE O-RINGS	18	N/B	N/B	\$28.40	\$511.20	N/B	N/B	\$3.55	\$63.90
6	M & H 129T 5 1/4" FIRE HYDRANT SAFETY REPAIR KIT	40	N/B	N/B	\$288.90	\$11,556.00	N/B	N/B	\$82.92	\$3,316.80
7	M & H 129T 2 1/2" OUTLET	15	N/B	N/B	N/B	N/B	N/B	N/B	\$78.31	\$1,174.65
8	M & H 129T 5 1/4" FIBER GASKET	200	N/B	N/B	N/B	N/B	N/B	N/B	\$7.15	\$1,430.00
9	M & H 129T 4 1/2" FIBER GASKET	100	N/B	N/B	N/B	N/B	N/B	N/B	\$7.15	\$715.00
10	M & H 129T FIRE HYDRANT 5 1/4" UPPER STEM	200	N/B	N/B	\$167.25	\$33,450.00	N/B	N/B	\$95.02	\$19,004.00
11	M & H OPERATING NUT 4 1/2" 129T (NEW STYLE WITH CAP AND SCREW)	5	N/B	N/B	\$133,15	\$665.75	N/B	N/B	\$160.44	\$802.20
12	M & H OPERATING NUT 4 ½" 129 (OLD STYLE)	5	N/B	N/B	N/B	N/B	N/B	N/B	\$110.71	\$553,55
13	M & H OPERATING NUT 5 1/4" 129T (NEW STYLE WITH CAP AND SCREW)	10	N/B	N/B	\$133.15	\$1,331,50	N/B	N/B	\$152.86	\$1,528.60
14	M & H OPERATING NUT 5 1/2" 129 (OLD STYLE)	25	N/B	N/B	N/B	N/B	N/B	N/B	\$113.47	\$2,836,75
15	M & H LOCKNUT OPERATING 129 4 1/2" (OLD STYLE)	5	N/B	N/B	N/B	N/B	N/B	N/B	\$61.77	\$308.85
16	M & H 4 ½" 1297 FIRE HYDRANT SAFETY REPAIR KIT	30	N/B	N/B	\$288.90	\$8,667.00	N/B	N/B	\$82.92	\$2,487.60
17 18	FIRE HYDRANT – RUBBER MAIN VALVE M & H 4 1/2" 129T VO M & H 5 ¼" 129T THRUST WASHER	10 1000	N/B N/B	N/B N/B	\$65.00 \$12.15	\$650.00 \$12,150.00	N/B N/B	N/B N/B	\$39.77 \$3.45	\$397.70 \$3,450.00
19	M & H 5 1/4" 1291 THRUST WASHER M & H 5 1/4" 129T STAND PIPE RUBBER GASKET	1000	N/B	N/B N/B	\$12.15 \$4.92	\$12,150.00 \$4,920.00	N/B N/B	N/B N/B	\$3.45 \$5.92	\$3,450.00 \$5,920.00
17		ON D TOTAL		/B		,527.41		N/B		566.58
TION I	- METROPOLITAN	J., D IOIAL			\$100.	,022		1	\$35,	70000
1	METROPOLITAN 250 2 ½" OUTLET	45	N/B	N/B	N/B	N/B	N/B	N/B	\$156.53	\$7,043.85
	METROPOLITAN 250 FIRE HYDRANT EXTENSION, 5 1/4" X 12", TO CONSIST OF: STANDPIPE		102	102	100	102	11/2	17/2	\$130.33	\$7,015.05
2	EXTENSION, STANDPIPE COUPLING WITH S.S. NUTS AND BOLTS, EXTENSION COUPLING GASKET, ROD EXTENSION (STEM) AND EXTENSION ROD COUPLING ASSEMBLY WITH S.S., PINS AND RINGS.	20	N/B	N/B	N/B	N/B	N/B	N/B	\$222.80	\$4,456.00
3	METROPOLITAN 250 FIRE HYDRANT EXTENSION ACCESSORY KIT TO CONSIST OF: 5 $\%$ " X 12" STEM, STANDPIPE COUPLING WITH S.S. NUTS AND BOLTS, EXTENSION COUPLING GASKET, ROD EXTENSION (STEM) AND EXTENSION ROD COUPLING ASSEMBLY WITH S.S, PINS AND RINGS	5	N/B	N/B	N/B	N/B	N/B	N/B	\$179.79	\$898.95
4	METROPOLITAN 250 FIRE HYDRANT 5 1/4" UPPER STEM	25	N/B	N/B	N/B	N/B	N/B	N/B	\$104.07	\$2,601.75
5	METROPOLITAN 250 MODEL 94 - EXTENSION 12" X 5 1/4" WITH ACCESSORY KIT	15	N/B	N/B	N/B	N/B	N/B	N/B	\$222.80	\$3,342.00
6	METROPOLITAN 250 MODEL 94 - SAFETY REPAIR KIT (658665) FOR 5 1/4"	25	N/B	N/B	N/B	N/B	N/B	N/B	\$93.07	\$2,326.75
	METROPOLITAN 250 MODEL 94 - SEAT RING (PART #42) FOR 5 1/4"	5	N/B	N/B	N/B	N/B	N/B	N/B	\$407.81	\$2,039.05
7	METROPOLITAN 250 MODEL 94 - SEAT RING "O" RINGS (PART #53) 5 1/4"	10	N/B	N/B	N/B	N/B	N/B	N/B	\$3.75	\$37.50
7 8										
7 8 9	METROPOLITAN 250 MODEL 94 – SEAT RING O RINGS (FART #55) 5 ½ METROPOLITAN 250 MODEL 94 OUTLET 2 ½", 5 ½"	5	N/B	N/B	N/B	N/B	N/B	N/B	\$52.46	\$262.30
		5 1000	N/B N/B	N/B N/B	N/B N/B N/B	N/B N/B	N/B N/B N/B	N/B N/B	\$52.46 \$9.38	\$262.30 \$9,380.00 \$5,230.00

BID TABULATION PAGE 2

BL015-19 Purchase of Fire Hydrants and Fire Hydrant Repair Parts on an Annual Contract Department of Water Resources

			Consolidated Pipe & Supply (L)		Core and Main (L)		Delta Municipal Supply Co., Inc. (OC)		Ferguson Enterprises, Inc.	
ITEM#	DESCRIPTION	APPROX. OTY.	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
SECTION	F - MUELLER	QII.	THICE	TRICE	TRICE	THICE	TAGE	TRICE	TRICE	THICE
1	MUELLER FIRE HYDRANT EXTENSION. 5 1/4" X 12" WITH ACCESSORY KIT	50	\$282.61	\$14,130,50	N/B	N/B	N/B	N/B	\$289,64	\$14,482.00
2	MUELLER FIRE HYDRANT SAFETY REPAIR KITS, 5 1/4"	30	\$105.00	\$3,150.00	N/B	N/B	N/B	N/B	\$106.61	\$3,198,30
3	MUELLER FIRE HYDRANT OPERATING NUT, 5 1/4"	20	\$117.50	\$2,350.00	N/B	N/B	N/B	N/B	\$110.71	\$2,214.20
4	MUELLER FIRE HYDRANT 5 1/2" MAIN VALVE SEAT	4	\$165.00	\$660.00	N/B	N/B	N/B	N/B	\$173.67	\$694.68
5	MUELLER FIRE HYDRANT 5 1/4" MAIN VALVE RUBBER	8	\$41.00	\$328.00	N/B	N/B	N/B	N/B	\$38.08	\$304.64
6	MUELLER 5 1/4" UPPER STEM	12	\$84.00	\$1,008.00	N/B	N/B	N/B	N/B	\$82.84	\$994.08
7	MUELLER 5 ¼" SEAT "O" RINGS	7	\$4.00	\$28.00	N/B	N/B	N/B	N/B	\$3,55	\$24.85
8	MUELLER 5 ¼" BONNET GASKET	1000	\$5.15	\$5,150.00	N/B	N/B	N/B	N/B	\$4.95	\$4,950.00
9	MUELLER 5 ¼" THRUST WASHER	1000	\$2.00	\$2,000.00	N/B	N/B	N/B	N/B	\$1.94	\$1,940.00
	SECTIO	ON F TOTAL	\$28,804.50		N/B		N/B		\$28,802.75	
SECTION	G - EAST JORDAN									
1	EAST JORDAN 5 1/4" COLLISION REPAIR KIT	20	N/B	N/B	N/B	N/B	\$133.00	\$2,660,00	N/B	N/B
2	EAST JORDAN 5 ¼" – 12" EXTENSION	20	N/B	N/B	N/B	N/B	\$338.80	\$6,776,00	N/B	N/B
3	EAST JORDAN OPERATING NUT	10	N/B	N/B	N/B	N/B	\$102.00	\$1,020.00	N/B	N/B
4	EAST JORDAN UPPER STEM	10	N/B	N/B	N/B	N/B	\$91.80	\$918.00	N/B	N/B
5	EAST JORDAN LOWER STEM	10	N/B	N/B	N/B	N/B	\$59.65	\$596.50	N/B	N/B
6	EAST JORDAN BRASS SEAT VALVE	10	N/B	N/B	N/B	N/B	\$126.26	\$1,262,60	N/B	N/B
7	EAST JORDAN BRASS SEAT VALVE O-RING	10	N/B	N/B	N/B	N/B	\$5,42	\$54.20	N/B	N/B
8	EAST JORDAN BRASS SEAT VALVE RUBBER	10	N/B	N/B	N/B	N/B	\$62.10	\$621.00	N/B	N/B
9	EAST JORDAN 2 ½" HOSE NOZZLE	10	N/B	N/B	N/B	N/B	\$55.50	\$555,00	N/B	N/B
10	EAST JORDAN 2 1/2" HOSE NOZZLE GASKET	10	N/B	N/B	N/B	N/B	\$4.50	\$45.00	N/B	N/B
11	EAST JORDAN 4 1/2" PUMPER NOZZLE	10	N/B	N/B	N/B	N/B	\$91.00	\$910.00	N/B	N/B
12	EAST JORDAN 4 1/2" PUMPER NOZZLE GASKET	10	N/B	N/B	N/B	N/B	\$3,57	\$35,70	N/B	N/B
	SECTIO			i/B	N/B		\$15,454.00		N/B	
	H - THREE-WAY HYDRANTS (BRANDS LISTED ON BID SCHEDULE SUCH AS AMERICAN MUELLER, ETC.)									
1	THIRE WAY FIRE HYDRANTS 2 EA, 2 ½" HOSE NOZZLES; 1 EA, 4 ½" STEAMER NOZZLE, 5 ½" VALVE OPENING, 1 ½" PENTAGON NUT COUNTER CLOCKWISE OPENING TO INCLUDE A 4' BURY DEPTH. PAINTED SILVER	60	\$1,332.00	\$79,920.00	\$1,461.00	\$87,660.00	\$1,257.01	\$75,420.60	\$1,528.42	\$91,705.20
	SECTIO	ON H TOTAL	\$79,920.00		\$87,660.00		\$75,420.60		\$91,705.20	
SECTION	I - MISCELLANEOUS									
1	2 1/2" CAPS WITH CHAINS (TO FIT ALL HYDRANTS)	50	\$36.00	\$1,800.00	N/B	N/B	N/B	N/B	\$41.93	\$2,096.50
2	4 1/2" STEAMER CAPS WITH CHAINS (TO FIT ALL HYDRANTS)	25	\$49.00	\$1,225,00	N/B	N/B	N/B	N/B	\$53.12	\$1,328.00
3	5/8" X 4" FRANGIBLE BOLTS WITH NUTS	50	N/B	N/B	N/B	N/B	N/B	N/B	\$5.50	\$275.00
4	5/8" X 2 1/2" FRANGIBLE BOLTS WITH NUTS	75	N/B	N/B	N/B	N/B	N/B	N/B	\$5.50	\$412.50
5	PAINT - WEEKEND KRYLON 345 (SILVER)*, OR EQUIVALENT	600	N/B	N/B	N/B	N/B	N/B	N/B	\$3.19	\$1,914.00
6	PAINT - SILVER BRITE ALUMINUM PAINT GALLON	250	N/B	N/B	N/B	N/B	N/B	N/B	\$37.23	\$9,307.50
7	GREASE, WHITE TUBE - ENVIRONMENTALLY SAFE.	700	N/B	N/B	N/B	N/B	N/B	N/B	\$10.69	\$7,483.00
		ON I TOTAL	\$3.0	25.00		i/B	1	N/B		816.50
BID TOTAL			\$111.	749.50	\$188	187.41	\$90.	874.60	\$284	309.04
	Will Vendor Hold Pricing Firm? Rea			ncrease		ncrease		ncrease		ncrease

BID TABULATION PAGE 3

BL015-19 Purchase of Fire Hydrants and Fire Hydrant Repair Parts on an Annual Contract Department of Water Persuages

	of Water Resources							
				Fortiline, Inc.		aflo, Inc. (OS)	Southern Pipe & Supply (L)	
ITEM#	DESCRIPTION	APPROX. QTY.	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
Section A - A	MERICAN DARLING	- Quan						
1	B62B AMERICAN DARLING FIRE HYDRANT EXTENSION, 5 1/4" X 12" WITH ACCESSORY KIT	30	\$207.99	\$6,239.70	N/B	N/B	N/B	N/B
2	B62B AMERICAN DARLING FIRE HYDRANT SAFETY REPAIR KIT (1986 & NEWER)	30	\$98.39	\$2,951.70	N/B	N/B	N/B	N/B
3	B62B AMERICAN DARLING FIRE HYDRANT OPERATING NUT MARK 73 AMERICAN DARLING FIRE HYDRANT EXTENSION, 4 ½" X 12" WITH ACCESSORY KIT	10	\$351.99 \$180.79	\$3,519.90 \$903.95	N/B N/B	N/B N/B	N/B N/B	N/B N/B
5	MARK 73 AMERICAN DARLING FIRE HYDRANT EXTENSION, 4 ½ A 12 WITH ACCESSORT KIT MARK 73 AMERICAN DARLING FIRE HYDRANT OPERATING NUT	3	\$251.99	\$755.97	N/B	N/B	N/B	N/B
6	MARK 73 AMERICAN DARLING FIRE HYDRANT SAFETY REPAIR KIT	20	\$89.19	\$1.783.80	N/B	N/B	N/B	N/B
7	MARK 73 AMERICAN DARLING 2 1/2" OUTLET	3	\$143.99	\$431.97	N/B	N/B	N/B	N/B
8	B62B AMERICAN DARLING 2 ½" OUTLET	10	\$143.99	\$1,439.90	N/B	N/B	N/B	N/B
9	B62B AMERICAN DARLING 5 ¼" BONNET GASKET	1000	\$5.70	\$5,700.00	N/B	N/B	N/B	N/B
10	MARK 73 AMERICAN DARLING 4 ½" BONNET GASKET B62B AMERICAN DARLING 5 ½" THRUST WASHER	1000	\$5.64 \$6.64	\$5,640.00 \$6,640.00	N/B N/B	N/B N/B	N/B N/B	N/B N/B
11		ON A TOTAL	\$0.04	\$36,006.89		N/B		N/B
SECTION B	- CLOW MEDALLION			1100				
1	CLOW MEDALLION FIRE HYDRANT EXTENSIONS, 5 1/4" X 12" WITH ACCESSORY KIT	2	\$249.59	\$499.18	N/B	N/B	N/B	N/B
2	CLOW MEDALLION FIRE HYDRANT SAFETY REPAIR KITS, 5 1/4"	6	\$100.79	\$604.74	N/B	N/B	N/B	N/B
3	CLOW MEDALLION FIRE HYDRANT 5 1/4" UPPER STEM	3	\$115.19	\$345.57	N/B	N/B	N/B	N/B
<u>4</u> 5	CLOW MEDALLION 5 ¼" FIRE HYDRANT MAIN VALVE RUBBER CLOW MEDALLION 5 ¼" BRONZE SEAT RING	3	\$48.25 \$318.39	\$144.75 \$955.17	N/B	N/B	N/B	N/B
5		ON B TOTAL	\$318.39	\$955.17 \$2,549.41	N/B	N/B N/B	N/B	N/B
SECTION C	- KENNEDY	J. ID I OTAL		ψ <u>μ</u> ηυ 77.71		. , , ,		"-
1	KENNEDY K81A FIRE HYDRANT EXTENSION 5 1/4" X 12" WITH ACCESSORY KIT	5	\$219.19	\$1,095.95	\$225.12	\$1,125.60	N/B	N/B
2	KENNEDY K10B FIRE HYDRANT EXTENSION 5 1/4" X 12" WITH ACCESSORY KIT	2	\$297.72	\$595.44	N/B	N/B	N/B	N/B
3	KENNEDY K81A FIRE HYDRANT SAFETY REPAIR KIT, 5 1/4"	12	\$95.99	\$1,151.88	\$97.00	\$1,164.00	N/B	N/B
4	KENNEDY K81A FIRE HYDRANT 5 ¼" MAIN VALVE SEAT	2	\$255.99	\$511.98	N/B	N/B	N/B	N/B
	KENNEDY K-11 FIRE HYDRANT 4 1/2" X 12" EXTENSION WITH ACCESSORY KIT	ON C TOTAL	N/B	N/B \$3,355,25	N/B	N/B 289.60	N/B	N/B
SECTION D		JN C IOIAL		\$3,333.43	\$2,	209.00	ľ	(/B
1	M & H 129T 4 ½" V O FIRE HYDRANT MAIN VALVE SEAT	4	\$427.99	\$1,711.96	N/B	N/B	N/B	N/B
2	M & H 129T V O FIRE HYDRANT EXTENSION 5 1/4" X 12" WITH ACCESSORY KIT	50	\$219.19	\$10,959.50	\$247.31	\$12,365.50	N/B	N/B
3	M & H 129T FIRE HYDRANT EXTENSION 5 1/4" X 12" (6 HOLE OLD STYLE)	10	\$219.19		\$247.31	\$2,473.10	N/B	N/B
4	M & H 129T 5 1/4" V O FIRE HYDRANT MAIN VALVE RUBBER	10	\$44.17	\$441.70	\$38.12	\$381.20	N/B	N/B
5 6	M & H 129T 5 1/2" FIRE HYDRANT MAIN VALVE O-RINGS M & H 129T 5 1/2" FIRE HYDRANT SAFETY REPAIR KIT	18 40	\$3.55 \$78.39	\$63.90 \$3.135.60	\$4.62 \$84.19	\$83.16 \$3,367.60	N/B N/B	N/B N/B
7	M & H 129T 2 ½" OUTLET	15	\$138.39	\$2,075.85	\$58.04	\$3,367.60	N/B N/B	N/B N/B
8	M & H 129T 5 ¼" FIBER GASKET	200	\$6.77	\$1,354.00	\$4.95	\$990.00	N/B	N/B
9	M & H 129T 4 1/2" FIBER GASKET	100	\$6.77	\$677.00	\$4.40	\$440.00	N/B	N/B
10	M & H 129T FIRE HYDRANT 5 1/4" UPPER STEM	200	\$92.92	\$18,584.00	\$82,93	\$16,586,00	N/B	N/B
11	M & H OPERATING NUT 4 1/2" 129T (NEW STYLE WITH CAP AND SCREW)	5	\$247.99	\$1,239.95	N/B	N/B	N/B	N/B
12	M & H OPERATING NUT 4 ½" 129 (OLD STYLE) M & H OPERATING NUT 5 ½" 129T (NEW STYLE WITH CAP AND SCREW)	5 10	\$115.70 W/D	\$578.50 W/D	\$116.10 N/B	\$580.50 N/B	N/B N/B	N/B N/B
14	M & H OPERATING NUT 5 1/4" 1291 (NEW STYLE)	25	\$115.70	\$2,892,50	\$116.10	\$2,902.50	N/B	N/B
15	M & H LOCKNUT OPERATING 129 4 1/2" (OLD STYLE)	5	\$83.96	\$419.80	\$46.04	\$230.20	N/B	N/B
16	M & H 4 ½" 1297 FIRE HYDRANT SAFETY REPAIR KIT	30	\$251.17	\$7,535.10	\$83.69	\$2,510,70	N/B	N/B
17	FIRE HYDRANT – RUBBER MAIN VALVE M & H 4 1/2" 129T VO	10	\$39.80	\$398.00	\$35.80	\$358.00	N/B	N/B
	M & H 5 1/4" 129T THRUST WASHER	1000	\$3.29 \$5.64	\$3,290.00 \$5,640.00	\$3.50 \$4.95	\$3,500.00 \$4,950.00	N/B	N/B
19	M & H 5 ¼" 129T STAND PIPE RUBBER GASKET SECTION	ON D TOTAL	\$5.04	\$63,189.26	91.72	,589.06	N/B	N/B
SECTION E	- METROPOLITAN	J., D IOIAL		\$00,107.20	\$32	,,		
1	METROPOLITAN 250 2 ½" OUTLET	45	\$147.99	\$6,659.55	N/B	N/B	N/B	N/B
	METROPOLITAN 250 FIRE HYDRANT EXTENSION, 5 1/4" X 12", TO CONSIST OF: STANDPIPE							
2	EXTENSION, STANDPIPE COUPLING WITH S.S. NUTS AND BOLTS, EXTENSION COUPLING GASKET, ROD EXTENSION (STEM) AND EXTENSION ROD COUPLING ASSEMBLY WITH S.S. PINS AND RINGS	20	\$210.66	\$4,213.20	N/B	N/B	N/B	N/B
3	METROPOLITAN 250 FIRE HYDRANT EXTENSION ACCESSORY KIT TO CONSIST OF: 5 1/4" X 12" STEM, STANDPIPE COUPLING WITH S.S. NUTS AND BOLTS, EXTENSION COUPLING GASKET, ROD EXTENSION (STEM) AND EXTENSION ROD COUPLING ASSEMBLY WITH S.S, PINS AND RINGS	5	\$161.19	\$805.95	N/B	N/B	N/B	N/B
4	METROPOLITAN 250 FIRE HYDRANT 5 1/4" UPPER STEM	25	\$98.39	\$2,459.75	\$88.24	\$2,206.00	N/B	N/B
5	METROPOLITAN 250 MODEL 94 – EXTENSION 12" X 5 1/4" WITH ACCESSORY KIT	15	\$210.66	\$3,159.90	N/B	N/B	N/B	N/B
6	METROPOLITAN 250 MODEL 94 – SAFETY REPAIR KIT (658665) FOR 5 ¼"	25	\$87.99	\$2,199.75	N/B	N/B	N/B	N/B
7 8	METROPOLITAN 250 MODEL 94 – SEAT RING (PART #42) FOR 5 ¼" METROPOLITAN 250 MODEL 94 – SEAT RING "O" RINGS (PART #53) 5 ¼"	5 10	\$385.59 \$3.73	\$1,927.95 \$37.30	N/B N/B	N/B N/B	N/B N/B	N/B N/B
9	METROPOLITAN 250 MODEL 94 – SEAT KING O'' KINGS (PART #55) 5 1/4" METROPOLITAN 250 MODEL 94 OUTLET 2 1/2", 5 1/4"	5	\$147.99	\$739.95	N/B N/B	N/B	N/B N/B	N/B N/B
10	METROPOLTAN 250 MODEL 94 OUTLET 2 72 , 5 74 METROPOLTAN 250 MODEL 94 THRUST WASHER 5 1/4"	1000	\$9.38	\$9,380,00	N/B	N/B	N/B	N/B
	METROPOLTAN 250 MODEL 94 BONNET SEAL 5 1/4"	1000	\$5.24	\$5,240.00	N/B	N/B	N/B	N/B
	SECTI	ON E TOTAL		\$36,823.30	\$2,	206.00		i/B

BID TABULATION PAGE 4

BL015-19 Purchase of Fire Hydrants and Fire Hydrant Repair Parts on an Annual Contract Department of Water Resources

			Fortiline, Inc. (L)		Hydraflo, Inc. (OS)		Southern Pipe & Supply (L)	
ITEM#	DESCRIPTION	APPROX. QTY.	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
SECTION 1	- MUELLER							
1	MUELLER FIRE HYDRANT EXTENSION, 5 1/4" X 12" WITH ACCESSORY KIT	50	\$273.86	\$13,693.00	\$298.77	\$14,938.50	N/B	N/B
2	MUELLER FIRE HYDRANT SAFETY REPAIR KITS, 5 1/4"	30	\$100.79	\$3.023.70	\$116.63	\$3,498.90	N/B	N/B
3	MUELLER FIRE HYDRANT OPERATING NUT, 5 1/4"	20	\$199.99	\$3,999.80	\$110.84	\$2,216.80	N/B	N/B
4	MUELLER FIRE HYDRANT 5 1/4" MAIN VALVE SEAT	4	\$271.99	\$1,087.96	\$173.87	\$695.48	N/B	N/B
5	MUELLER FIRE HYDRANT 5 1/4" MAIN VALVE RUBBER	8	\$49.98	\$399.84	\$38.12	\$304.96	N/B	N/B
6	MUELLER 5 ¼" UPPER STEM	12	\$102.39	\$1,228.68	\$82.93	\$995.16	N/B	N/B
7	MUELLER 5 1/4" SEAT "O" RINGS	7	\$3.55	\$24.85	\$4.62	\$32.34	N/B	N/B
8	MUELLER 5 ¼" BONNET GASKET	1000	\$5.71	\$5,710.00	\$4.95	\$4,950.00	N/B	N/B
9	MUELLER 5 ¼" THRUST WASHER	1000	\$1.94	\$1.940.00	\$3.35	\$3,350.00	N/B	N/B
		ON F TOTAL	\$31	107.83	\$30	,982.14	N	/B
SECTION (G - EAST JORDAN							
1	EAST JORDAN 5 1/4" COLLISION REPAIR KIT	20	\$148.24	\$2,964.80	N/B	N/B	N/B	N/B
2	EAST JORDAN 5 1/4" – 12" EXTENSION	20	\$371.07	\$7,421.40	N/B	N/B	N/B	N/B
3	EAST JORDAN OPERATING NUT	10	\$113.34	\$1,133.40	N/B	N/B	N/B	N/B
4	EAST JORDAN UPPER STEM	10	\$107.38	\$1,073.80	N/B	N/B	N/B	N/B
5	EAST JORDAN LOWER STEM	10	\$69.74	\$697.40	N/B	N/B	N/B	N/B
6	EAST JORDAN BRASS SEAT VALVE	10	\$149.14	\$1,491.40	N/B	N/B	N/B	N/B
7	EAST JORDAN BRASS SEAT VALVE O-RING	10	\$6.54	\$65.40	N/B	N/B	N/B	N/B
8	EAST JORDAN BRASS SEAT VALVE RUBBER	10	\$73.37	\$733.70	N/B	N/B	N/B	N/B
9	EAST JORDAN 2 ½" HOSE NOZZLE	10	\$65.62	\$656.20	N/B	N/B	N/B	N/B
10	EAST JORDAN 2 ½" HOSE NOZZLE GASKET	10	\$5.38	\$53.80	N/B	N/B	N/B	N/B
11	EAST JORDAN 4 1/2" PUMPER NOZZLE	10	\$107.83	\$1,078.30	N/B	N/B	N/B	N/B
12	EAST JORDAN 4 1/2" PUMPER NOZZLE GASKET	10	\$4.32	\$43.20	N/B	N/B	N/B	N/B
	SECTIO!		\$17,412.80		N/B		N/B	
	H - THREE-WAY HYDRANTS (BRANDS LISTED ON BID SCHEDULE SUCH AS AMERICAN MUELLER, ETC.)							
1	THREE WAY FIRE HYDRANTS 2 EA, 2 ½" HOSE NOZZLES; 1 EA, 4 ½" STEAMER NOZZLE, 5 ½" VALVE OPENING, 1 ½" PENTAGON NUT COUNTER CLOCKWISE OPENING TO INCLUDE A 4' BURY DEPTH, PAINTED SILVER	60	N/B	N/B	N/B	N/B	\$1,374.96	\$82,497.60
	SECTION H TOTAL		N/B		N/B		\$82,497.60	
SECTION 1	- MISCELLANEOUS							
1	2 1/2" CAPS WITH CHAINS (TO FIT ALL HYDRANTS)	50	\$55.06	\$2,753.00	\$41.98	\$2,099.00	N/B	N/B
2	4 1/2" STEAMER CAPS WITH CHAINS (TO FIT ALL HYDRANTS)	25	\$106.52	\$2,663.00	\$53.18	\$1,329.50	N/B	N/B
3	5/8" X 4" FRANGIBLE BOLTS WITH NUTS	50	\$5.51	\$275.50	\$5.73	\$286.50	N/B	N/B
4	5/8" X 2 1/2" FRANGIBLE BOLTS WITH NUTS	75	N/B	N/B	\$5.73	\$429.75	N/B	N/B
5	PAINT - WEEKEND KRYLON 345 (SILVER)*, OR EQUIVALENT	600	N/B	N/B	N/B	N/B	N/B	N/B
6	PAINT - SILVER BRITE ALUMINUM PAINT GALLON	250	N/B	N/B	N/B	N/B	N/B	N/B
7	GREASE, WHITE TUBE - ENVIRONMENTALLY SAFE.	700	\$9.10	\$6,370.00	N/B	N/B	N/B	N/B
		ON I TOTAL		061.50		144.75		/B
	BID TOTAL			,255.48		,211.55	,	197.60
	Will Vendor Hold Pricing Firm? Renewal Option 1			6 increase		Yes	Yes	

Recommended Vendors: Consolidated Pipe & Supply Attn: Trey Norman 194 Hurricane Shoals Road Lawrenceville, GA 30046 Phone: 770-822-9664 Fax: 770-822-9323 treynorman@consolidatedpipe.com

Ferguson Enterprises, Inc. Attn: Bob Mcwhorter 4655 Buford Hwy Norcross, GA 30071 Phone: 770-248-9037 Fax: 770-840-9867 bob.mcwhorter@ferguson.com Core and Main Attn: Eric Fischer 238 Hurricane Shoals Road Lawrenceville, GA 30045 Phone: 770-277-0877 Fax: 770-277-6467 eric.fischer@coreandmain.com

Fortiline, Inc. Attn: Nasoshia McCleave 1630 Peachtree Industrial Blvd Suwanee, GA 30025 Phone: 706-252-2735 Fax: 678-714-9195 john.pollard@fortiline.com

Delta Municipal Supply Co., Inc. Attr: David Lyle 408 Jesse Cronic Road Braselton, GA 30517 Phone: 770-277-0211 Fax: 770-277-2412 david.lyle@deltamunicipal.com

Hydraflo, Inc. Attn: Buddy Barbay 1030 Milam St. Beaumont, TX 77701 Phone: 800-327-7853 Fax: 409-832-4954 sales@hydraflo.com